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Relevant Issues

How can we measure a 
customerõs worth?

How do we incorporate future 
purchase behavior in 
calculating a customerõs worth?
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Types of Customer Selection Methods

·Traditional Metrics 

ƁRecency-Frequency -Monetary Value (RFM) 

¶Frequently used in mail-order companies

ƁShare of Wallet (SOW) ð

¶Used in High Tech firms

ƁPast Customer Value (PCV)

¶Used in the financial services industry

ƁCLV is an advanced metric that is widely gaining popularity 

across all industries
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Recency-Frequency-Monetary Value

ƁUsed in Mail order and catalog industries (71%)

ƁThis technique uses past customer information about Recency, Frequency, and 

Monetary Value to evaluate and predict customer behavior and customer value 

and is defined as follows:

1. Recencyis a measure for the time elapsed since a customer last placed an 

order with the company.

2. Frequencyis a measure of how often a customer orders from the company 

in a certain time period.

3. Monetary value is a measure of the amount that a customer spends on an 

average transaction.
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RFM:  An Example
ƁABC Sports ware can contact one of its two customers (they are REALLY good 

customersé)

ƁABC has purchase behavior data for each of these two customers over a 

period of five months (Jan-May)

Cust . Jan Feb March April May

1 200 50 80 100 200

2 300 200 0 25 45

Dollar Amount Spent by Each Customer

Cust . Jan Feb March April May

1 3 1 2 1 1

2 2 1 0 1 2

Purchase frequency of ABCõs Customers

Recency = 20 points if purchased within the last 1month

10 points if purchased 2 months ago

3 points if purchased 3 or 4 months ago (count only once)

i.e., If customer has purchased both in 3 and 4 months ago (Feb and March), the 

recency point is 3. (not 6)

2 points if purchased 5 or more months ago

Relative weight 50%

Frequency = 3 points for each purchase within the last 6 months

Relative weight 20%

Monetary Value = 10% of $ volume of Purchase within the last 6 months

Relative weight 30%
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RFM:  An Example (solution)

RFM Scores

Customer 1 41.2 (Rank 1)

Customer 2 38.2 (Rank 2)
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Share-of-Wallet (SOW)
· Share-of-wallet (SOW) indicates the degree to which a customer meets 

his or her needs in the category with a focal brand or firm. 

· SOW is used widely in retail businesses such as supermarkets and in 
financial companies mainly to identify whether or not consumers are loyal 
to a specific store or whether they shop around at different stores.

· This metric provides B2B companies with an idea of what portion of the 
marketing budget is being spent with that firm. 

· SOW can be estimated either at the individual level or at the aggregate 
level, but as a customer scoring metric it used almost exclusively at the 
customer level
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Share-of-Wallet (SOW)

· Individual Share-of-Wallet=

where,

S = sales to the focal customer,

j = firm,

= sum of the value of sales made by all firms that sell products to a certain 

buyer.
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SOW Example

Customer Jan Feb March April May

1 200 50 80 100 200

2 300 200 0 25 45

Customer Jan Feb March April May

1 3 1 2 1 1

2 2 1 0 1 2

Table 3.1: Dollar Amount Spent by Each Customer 

Table 3.2: Purchase Frequency of the Customers of ABC Sportswear
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SOW Solution

Amount spent in ABC 

Sportswear from Jan-May ($)

Total amount spent on sportswear in 

the same period ($)

Share-of-Wallet 

(SOW)

Customer 1 630 2000 31.5%

Customer 2 570 1000 57%
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Past Customer Value

Past customer value (PCV) model is built on the assumption that the past 
profitability of the customer indicates the level of future profitability

Past customer value of a customer =
t

T

t

it rGC )1(*
1

+ä
=

where,

i = number representing the customer,

r = applicable discount rate (for example, 15% per annum or 1.25% per month),

T = number of time periods prior to the current period when the purchase was made,

GCit = gross contribution of transaction of the i th customer in time period t.

Jan Feb Mar Apr May

Customer 1 Total Spent ($) 200 50 80 100 200

GC ($) 60 15 24 30 60

Customer 2 Total Spent ($) 300 200 0 25 45

GC ($) 90 60 0 7.5 13.5

Table 3.6
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PCV Solution

Past Customer Value

Customer1 $180

Customer 2 $117

Table 3.7: PCV of the Customers

Å The gross contribution made by each customer is given in Table 3.6. The 

PCV score for the two customers (from the original ABC Sportswear example) 

is calculated based on the formula given in equation (2) (assuming the discount 

rate as 1.25% per month). 

Å Based on the PCV scores, ABC Sportswear decides that Customer 1 has 

the greater potential for profitability since the PCV score for Customer 1 

($180) is higher than for Customer 2 ($117). Thus, in this case the ABC 

Sportswear Company chooses Customer 1 as the ideal customer for its 

current marketing campaign.
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Shortcomings of Metrics

RFM

ÅRank Ordering existing 
customers based on 
past purchase history

ÅDoes not reveal any 
key information to 
marketers, such as 
whether or not a 
customer is loyal, 
when a customer is 
likely to buy next, or 
how much profit a 
customer is likely to 
give.

SOW

ÅUncovers the level of 
loyalty a customer has 
with the firm, which 
the RFM score does 
not, it suffers from the 
lack of ability to 
explain when a 
customer is likely to 
buy next and how 
profitable a customer 
will be in the future.

Åif SOW was the only 
metric used for 
marketing resource 
allocation, it tells 
nothing about the size 
of wallet.

PCV

ÅThe PCV metric was 
used to try and answer 
the question of how 
much a customer 
provides in profit. 

ÅIt makes the 
assumption that the 
past spending behavior 
of the customer is 
going to continue in 
the future, and the past 
pattern is a good 
predictor of future 
behavior
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